[N of associated tracks (simToReco) vs hit ]

N of simulated tracks vs hit

10 15 20 25 30 35 40

5

Sd1 paronisuossy

0

it

60

TP hits

40

20

30

TP hits

~
o
—

sa|oedBbupoelL

10

o
2

4

<

>

s
P
2 @
3 3
33
S
= =
S G
==
R
£ 8 8
2 2 =
=R
0_n_n_
- EE
T_.I_.I_
=z = =
o Qo
aada
E

?

S

z

25

TP layers

20

15

10

P---

25

20
TP layers

15

10

sa|onedBupORIL

3

[N of associated tracks (simToReco) vs pixel layer ]

[N of simulated tracks vs pixel layer ]
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[[N of simulated tracks vs 3D layer ]
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